

$$\underbrace{\int_0^{2\pi} \frac{\sin^2 t}{2 - \cos t} dt}_{8|c(i)} = \left\{ \begin{array}{l} z = e^{it} \\ dz = iz dt \\ \sin t = \frac{e^{it} - e^{-it}}{2i} = \frac{1}{2i} \left( z - \frac{1}{z} \right) \\ \cos t = \frac{e^{it} + e^{-it}}{2} = \frac{1}{2} \left( z + \frac{1}{z} \right) \end{array} \right. \quad \left. \begin{array}{l} \gamma(t) = e^{it} \\ t \in [0, 2\pi) \end{array} \right\} =$$

$$= \int_{\gamma} \frac{\left( \frac{1}{2i} \left( z - \frac{1}{z} \right) \right)^2}{2 - \frac{1}{2} \left( z + \frac{1}{z} \right)} \frac{dz}{iz} = \frac{1}{i} \int_{\gamma} \frac{-\frac{1}{4} \left( z^2 - 2 + \frac{1}{z^2} \right) dz}{2z - \frac{1}{2}z^2 \oplus \frac{1}{2}} =$$

$$= -\frac{1}{4i} \int_{\gamma} \boxed{\frac{z^4 - 2z^2 + 1}{z^2 \left( -\frac{1}{2}z^2 + 2z \oplus \frac{1}{2} \right)}} dz = -\frac{1}{4i} 2\pi i \left( \text{res}(f, 0) + \text{res}(f, z_2) \right)$$



$$-\frac{1}{2}z^2 + 2z \oplus \frac{1}{2} = 0$$

$$\Delta = 4 \oplus 1 = \cancel{5} 3$$

$$z_{1,2} = \frac{-2 \pm \sqrt{3}}{-1}$$

$$z_1 = 2 + \sqrt{3}$$

$$z_2 = 2 - \sqrt{3}$$